Division par Puissances de Dix (G)

Trouvez chaque quotient.

13+1000 = 99 +-10 =
52 +10= 45+ 100 =
79 - 10 = 90 +-1000 =
32 +100 = 95 +10 =
14 +-1000 = 1+1000=
51 +1000= 9+100=
56 1000 = 35+-1000=
48 - 10 = 88 +-1000=
95 +100 = 721000 =
97 +-10 = 86 -10 =

MathsLibres.Com




Division par Puissances de Dix (G) Solutions

Trouvez chaque quotient.

13+1000=0,013 99 +-10=99

52 +10=5,2 45 +100=0,45
79+10=79 90+ 1000=0,09
32+100=0,32 95+10=9,5

14 +-1000=0,014 1+1000=0,001
51-+1000=0,051 9+100=0,09

56 ~1000=0,056 35+1000=0,035
48 ~-10=4,8 88 +1000=0,088
95 +100=0,95 72+1000=0,072
97 +-10=9,7 86 +10=28,6
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